Name: Class:

Algebra

Solve for the variable.

Ly+1=3 2 34+y=4
> y+4=4 “y+8=10
>y+1=8 > 6+y=14
" 7+y=11 S y+2=5
> 5+y=8 Y 0+y=7
Ty+-1=5 " y+7=13
B y+5=14 “y+-3=2
B 3+y=12 % y+0=-

Ty 42 = ®y+0=5
¥ 3+y=- 0-2+y=1]
2y +0=8 2 8+y=7
Boy+-2=3 1 +y=

B 0+y=-2 . yv+8=9
5+y=2 ®2+y=3




Name: Claoss:

Algebra

Solve for the variable.

Ly+1=3y=2 2 3+y=4y=1
S y+4=4y=0 Y y+8=10y=2
> y+1=8y=7 > 6+y=14y=8
T 7+y=11y=4 S y+2=5y=3
> 5+y=8y=3 0 0+y=7y=7
My+-1=5y=46 2y+7=13y=56
By+5=14y=9 “y+3=2y=5
B 3+y=12y=9 ®y+0=-3y=-3
7 y+2="5y=-23 B yv+0=5y=5
¥ 3+y=-6y=-3 0.2+y=11y=9
2y+0=8y=8 28+y=7y=-]
By+-2=3y=5 A 1+y=1y=2
2 0+y=2y=-2 Xy+8=9y=]
5 +y=2y=-3 B.2+y=3y=1




